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Tonexus format=phylip fromfile=myfile.phy tofile=myfile.nex;  
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Export file=newnex.nex format=nexus interleave=no linebreaks=doswindows charsperline=1250;�;����
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#NEXUS  

Begin taxa; 

      Dimensions ntax=4; 



Taxlabels 'taxon1' 'taxon2' 'taxon3' 'taxon4'; [defines taxa / sequence names] 

End; 

[a taxa block is recommended, but not necessary if the taxa block and character 
block are alternatively replaced by a data block (see below)] 

Begin characters; 

      Dimensions Newtaxa ntax=4 nchar=4; 

Format datatype=standard symbols="0123" missing=? Interleave=no ; options  
mstaxa=polymorph ; [defines datatype and symbols for character states. The last 
expression allows for polymorphic states] 

  

CHARLABELS  

[1] 'head' 

[2] 'shoulder' 

[3] 'knee' 

[4] 'toe' [defines character labels for four characters] 

; 

STATELABELS 

[1] 'long_scull' 'short_scull' [labels two states for character #1] 

; 

MATRIX 

taxon1      0000 

taxon2      0(01)10 [notice polymorphism (01) in character 2] 

taxon3      1321 

taxon4      1412; 

End; 
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#NEXUS 

Begin data; 

Dimensions ntax=4 nchar=10; 



Format datatype=dna missing=? gap=- interleave; [��	��
���	
��
��
���������
��	��
�����	
��
��
�] 

Taxon1      AGCTA 

Taxon2      AGGTA 

Taxon3      AGCCA 

Taxon4      AACCA 

Taxon1      TGCTT [����	����������!�����
����	
��(���
����	����
���	
��
��
�]  

Taxon2      AGGTT 

Taxon3      AGCCA 

Taxon4      AACCA; 

End; 
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      charset 12S = 1-605; ;��	��
��������������������	��$3�> 

      charset cytB = 606-1147; ;��	��
�����������������	��
���
�9��
�
> 

charset 1st = 606-1147\3;�;�
�������<�	�����������	���>�

charset 2nd = 607-1147\3;�;�
�������-�������������	���>�

charset 3nd = 608-1147\3;�;�
�������/�������������	���>�

   charpartition source = 1:12S, 2:cytB; ;�
�������	������	�	����(�

�
�����
�	��
�������
�������
> 

taxset birds = 'taxon1' 'taxon2'; ;�
���
��
	�����	���> 

taxset reptiles = 'taxon3' 'taxon4';

�

end; 
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begin paup;  

log file=log.txt start;�;�	��	���������	��	
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log stop;�;�	����������>�

log start append;�;�	��	�����������������������
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���	��	��	
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log file=log.txt replace;�;��
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Begin Paup; 

set criterion=distance; 

dset distance =abs subst=all;�;�������	
��������
�����
����������	�	�	����>�

savedist format=onecolumn file=subs.txtA�;���
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���	�������
��������	�����
�
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��
	 subst=tvA�;�������	
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�����������>�

savedist format=onecolumn file=no_tv.txtA�;���
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�

��C	��	�	>�

[dset subst=ti;]�;�������	
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�����	�����	���������>�

[savedist format=onecolumn file=no_ti.txt;]�;���
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dset distance =F84 subst=all; savedist format=onecolumn file=F84.txt;�;���
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set criterion=parsimony;  



set maxtrees = 500 increase=no; 

hsearch nreps=100 addseq=random swap=tbr; [���<.�

����	����
���
��
�����	
����	
�

�����������	�������	���������9:������
���������] 

savetrees file=mp.tre brlens=yes; [���
�	�

����	
������
��
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����
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���	�
] 

end; 
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begin paup;�

set criterion=distance;  

dset distance=logdet objective=me negbrlen=setzero;  [��
�����
	����	���
�����
��������
����	������

�������������	

�����	���
�] 

hsearch nreps=10 swap=tbr; [���<.��
�����	
��
���

�(�������
��9:���������] 

savetrees file=me.tre brlens=yes; 
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set criterion=likelihood;  

lset nst=2 basefreq=empirical rates=gamma ncat=4;�;�
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lset tratio=estimate shape=estimate;�;
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lset tratio=previous shape=previous;�;��
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hsearch nreps=1 swap=tbr start=1;��;�����
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savetrees file=ml.tre brlens=yes; ;���
�	�
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end;  
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Begin assumptions; 

        usertype mystepmatr = 4 ;�����
������
��	������
����������
����	
�����	
�D��	�	
�>�

[states] 0         1          2          3�

[0]      .         1          2          3  

[1]      1         .          1          2 

[2]      2         1          .          1 

[3]      3         2          1          . 

    ; 

End; 
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begin paup; 

ctype mystepmatr:10-15 18; [apply 'mystepmatrix' to character nos 10-15 and 
18:] 
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Begin trees; 

Translate  

      Taxon1, 

      Taxon2, 

      Taxon3, 



      Taxon4; 

Tree*mytree =  (((1,2),3),4); 
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Begin trees; 

Tree*mytree =  (((Taxon1,Taxon2),Taxon3),Taxon4); 
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Tree*mytree =  
(((Taxon1:0.4500,Taxon2:0.4378):0.5607,Taxon3):0.7860,Taxon4:0.4399); 
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Contree 5-. / strict=no majrule=yes grpfreq=yes indices=yes treefile=my_cons.tre;�
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Savetrees file=myfile.tre format=nexus brlens=yes;�;'��
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Savetrees from=6 to=8 file=myfile.tre format=altnexus brlens=yes;�;'��
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Gettrees file=myfile.tre allblocks=yes mode=7 storetreewts=yes; 
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Hompart partition=gene search=heuristic nreps=100 seed=123; 
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describetree / plot=ph brlens=yes; ;	
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